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Day 5: Finding Trig Values
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Warm-Up:
P[5, 12) is a peint on the ferminal side of 8in standard position. Find the exact values

of sin(8), cos(8), and tan(s). (\VL
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Finding Trig Valves Given a Point:
* Remember that if a point is on the unit circle, radias ‘_ )
Sin (9

the x-coordinate = the y-coordinate =
s Si . To find £8, we find the reference angle first

and tan(g) = :
using the positive lengths of the friangle sides, and then put that angle into the

correct guadrant fo find £6.
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3. Point ,qi;. & | is on a unit circle with a center of the origin. If 8 is an angle in

siondord pomhon whose ferminal side passes through A, find:
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4. P(8,-4) is a point on the terminal side of & in standard position. Find the exact
values of sin(8), cos(s) and fan(s).
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5. P(-4, 5) is a point on the terminal side of & in standard poesition. Find the exact
values of sin(8), cos(8) and tan(s).
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4. P(-2,-3) is a point on the terminal side of 8 in standard position. Find the exact
values ofsm{ej cos(8) and tan(s).
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Application Word Problems:
1. Abicycle whesl with a radius of 12" has a valve cap positioned at the highest point of
the wheel. If the wheel is spun 7507 in one direction, how high is the valve cap above the

ground? Round your answer to the pearest fenth of andnch.
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